

$$Dg \circ f: \{x \in D_f \mid f(x) \in D_g\} \xrightarrow{①} x \in D_f: D_f \Rightarrow \log_r^{x-1} \geq 0$$

$$\Rightarrow x-1 \geq 1 \rightarrow x \geq 2$$

$$② f(x) \in D_g: D_g \Rightarrow \sqrt{-(x-1)^2} + -(x-1)^2 \geq 0 \rightarrow (x-1) \leq 0 \rightarrow x-1=0 \rightarrow \boxed{x=1}$$

$$\rightarrow \sqrt{\log_r^{(x-1)}} = 2 \rightarrow \log_r^{(x-1)} = 4 \rightarrow x-1 = 14 \rightarrow x = 15$$

$$\cap ① \cap ② \rightarrow Dg \circ f: \{1, 15\}$$

$$f \circ g(x) = 2x^2 - 9x + 11$$

$$g \circ f(x) = (x-1)^2 - 2(x-1) + 1 \rightarrow 2x^2 - 4x + 1 - 2x + 2 + 1 \rightarrow 2x^2 - 6x + 4$$

$$\Rightarrow 2x^2 - 9x + 11 = 2x^2 - 6x + 4 \rightarrow 2x^2 - 9x + 11 = 2x^2 - 6x + 4$$

$$x^2 + 3 = (x+3)^2 - 6x - 6 \rightarrow \frac{C}{a} = \frac{3}{1} \rightarrow 1.00 - 3 = \underline{\underline{9/1}}$$

$$\frac{-b}{a} = \frac{6}{1} = 6$$

$$f(x) = 2x, g \circ f(x) = 2x^2 + 11 \Rightarrow g(x) = \frac{a}{x} x^2 + 11$$

$$g(x-1) = \frac{a}{x} (x-1)^2 + 11 \rightarrow \frac{a}{x} x^2 - \frac{2a}{x} x + 9 = 0$$

$$2(g(x)) - 1 = 2x^2 - 9x - 1 \rightarrow g(x) = \frac{2x^2 - 9x + 1}{2} \rightarrow g(x) = x^2 - 4.5x + 0.5$$

$$g \circ f \rightarrow g(x) = (x-1)^2 \rightarrow g \circ f: (2x - \frac{1}{2})^2 \rightarrow 4x^2 - 2x + 1 = g \circ f(x)$$

$$f-g: -x + a \quad f(x) = \frac{mx+h}{x} \quad g(x) = \frac{ax+b}{x}$$

$$f-g: \frac{x}{x} x + 1$$

$$\rightarrow f-g = \frac{f(g(x)) + 1a - 9f(x) - 2r}{x} \rightarrow f-g = \frac{(km-9a)x + (h+b-1)f}{x}$$

$$① km-9a = -9 \quad ② h+b = kf$$

$$③ km + 1a + 1h = 4 \rightarrow m(1b-1f) + h = -1$$

$$1bm - 1fm + 1h = 4 \rightarrow m(1b-1f) + h = -1$$

$$\log(n) \mapsto 9^{\log_r^2} \rightarrow x^{\log_r^2} \rightarrow x^r = \log(n)$$

$$g \circ f(n) = \log_r^2 \rightarrow \log_r^{r^2} \rightarrow rx \log_r^r \rightarrow g \circ f(n) = rx$$

$$x^r \leq x \rightarrow x^r - x \leq 0 \rightarrow x(x-1) \leq \frac{0}{+ \phi - \phi +} \rightarrow [0, 1]$$

$$f\left(\underbrace{x - \frac{r}{x}}_t\right) = \left(x - \frac{r}{x}\right)^r + \left(x - \frac{r}{x}\right) \rightarrow f(t) = t^r + t \rightarrow f(x) = x^r + x$$

$$D_{f \circ g} = \{x \in D_g \mid f(g(x)) \in D_f\} \xrightarrow{①} x \in D_g \rightarrow D_g \subseteq \mathbb{R}$$

$$\xrightarrow{②} g(x) \in D_f \rightarrow D_f: x > 0 \rightarrow 1x - x^2 > 0 \rightarrow x^2 - 1x < 0 \xrightarrow{+ \phi - \phi +} (0, 1]$$

$$①, ② \cap \rightarrow (0, 1] : D_{f \circ g}, R_{f \circ g}: 0 < x \leq 1 \rightarrow 0 < \log_r^2 \leq \log_r^2$$

$$A \cap B \rightarrow \{1, 2, 3\} \text{ ... } (0, 3] \quad 0 < \log_r^2 \leq 3$$

$$x^3 - 1x^2 + 1x - 1 \neq 1x - 1 \neq 1 \rightarrow x^3 - 1x^2 + 0x - 1 = h(g(x))$$

$$\frac{x^2 - 1}{x} = 1 \rightarrow x^2 - 1 = 1x \rightarrow x^2 - 1x - 1 = 0 \rightarrow (x-1)(x+1) = 0 \rightarrow \begin{cases} x = -1 \\ x = 1 \end{cases}$$

$$g \circ f(x) = 4ta + 1 \rightarrow 4ta + 1 = 0 \rightarrow \boxed{a = 0}$$

$$\underline{1} \quad g \circ f(-1) = -a - 1 \rightarrow -a - 1 = 1 \rightarrow a = -1 \rightarrow \boxed{a = -1}$$